

# CRUISE ITINERARY

2025 - 2026



#### MESSAGE FROM MINISTER MARSHA HENDERSON

Minister of Tourism, International Transport, Civil Aviation, Urban Development, Employment and Labour



As we set sail into a brand-new cruise season, the air in St. Kitts and Nevis is charged with excitement and promise. This is not just the start of another season—it is the dawn of a new day for our destination. A day that calls for pride in how far we've come, and optimism for the opportunities that lie ahead.

On behalf of the Ministry of Tourism and all its agencies: The St. Kitts Tourism Authority, the St. Christopher Air and Sea Ports Authority, Frigate Bay Corporation and the Urban Development Corporation, I extend sincere thanks and appreciation to you, our valued stakeholders. Through your creativity, innovation, and unwavering commitment to service excellence, you continue to champion our product and elevate the experiences we offer to every visitor who graces our shores. You are the anchors of our success, and your

efforts remain central to the growth of this industry and our nation.

This season holds great promise. In addition to a robust peak season, we have returned to **pre-COVID summer levels**, when a ship per week was the norm. Today, we proudly announce that St. Kitts and Nevis has grown from receiving one or two ships per month since my taking office to **no fewer than five ships per month**, equal once again to a ship per week. Looking ahead to the **2025–2026 season**, projections indicate, **13** inaugural calls, **454 calls** and more than **one million passengers**—a milestone that underscores the resilience and appeal of our destination.

Even as we celebrate these numbers, we must manage our expectations. They remain projections, subject to change due to external factors such as weather or itinerary shifts. Yet, they present undeniable opportunities for increased earnings for our people and sustained growth for our economy. Tourism has proven itself time and again to be resilient. It is our shared responsibility to respect and safeguard this vital industry. I urge every citizen and resident to recognize its value, not only as a driver of livelihoods and development but also as a proud reflection of who we are as a people. Let us seek out opportunities to think outside the box and add value by diversifying our product offerings and introducing our visitors to the 'Kittitian Way'. A way that is grounded in customer service excellence, a rich authentic culture and warm hospitality.

As we embark on this new season together, let us do so with **renewed commitment to excellence**. Let us enhance our service delivery, strengthen our visitor experiences, and ensure that safety remains at the forefront for both our guests and ourselves.

The horizon is bright, and with unity, dedication, and pride, we will make this season a truly extraordinary one. Thank you, and may we all enjoy a safe, successful, and productive cruise season.

### 2025 -2026 Inaugural Ships

Name of Ship:	Date:
Star of the Seas	23rd October 2025
Aida Blu	19th November 2025
Ambition	21st November 2025
Emerald Sakara	26th November 2025
Silver Ray	8th December 2025
Oceania Allura	14th December 2025
Vidanta Elegant	21st December 2025
Seven Seas Grandeur	25th December 2025
Artania	27th January 2026
Oceania Nautica	10th February 2026
Fred Olsen Bolette	27th February, 2026
Ambiance	28th February 2026
Scarlet Lady	15th April 2026

### **Prescribed Areas**



#### The following areas are designated as prescribed areas for Taxi and Tour bus operators:

- 1. The Robert Llewellyn Bradshaw International Airport
- 2. The Deep Water Port
- 3. Port Zante
- 4. All areas of downtown Basseterre outside of the commuter omnibus route
- 5. Brimstone Hill Fortress National Park
- 6. Caribelle Batik Factory or Romney Manor Parking Lot
- 7. The pick up and drop off area to the Wingfield Rainforest or any other Rainforest in St. Kitts
- 8. Any beach area located in Frigate Bay and on the South East Peninsula
- 9. Any pick up and drop off area located at any restaurant or any tourist accommodation that is any apartment, hotel, guest house or any other premises where accommodation for tourists is for reward licensed pursuant to the Saint Christopher Tourism Authority Act, No. 8 of 1999
- 10. The lookout at Timothy Hill
- 11. The Black Rocks
- 12. Train depots for the St. Kitts Scenic Railway
- 13. Any other areas that the Minister may by order designate.
- 4 www.visitstkitts.com Cruise schedule subject to change based on cancellations and changes to ship itinerary changes



Ships written in the color (ship) indicate inaugural visits. Please be advised that the cruise ship itinerary is subject to change as per cancellations and changes to ship itineraries.

### Did you know...? St. Kitts became exclusively British in 1713.

Sun	Mon	Tue	Wed	Thu	Fri	Sat	
October 2025							
			1	2	3	4	
5	6 Celebrity Reflec- tion (8am-5pm)	7	8	9 Oasis of the Seas ( 8am-5pm)	10 Grand Princess (8am-6pm)	11	
12	Carnival Venezia (8am-5pm)	14 Grand Princess (8am-6pm)	15 Celebrity Reflection (8am-5pm)	16	17	18	
19	20	21	22	23 Star of the Seas (8am-5pm)	24	25 Carnival Dream (8am-5pm) Disney Magic (8am-6pm)	
26	27	28 Star Pride (8am-5pm) Grand Princess (8am-6pm)	28 Mein Schiff 2 (7:30am- 7pm)	30 Celebrity Beyond (8am-5pm)	31		

### Did you know...? Berkeley Memorial was erected in 1883.

Sun	Mon	Tue	Wed	Thu	Fri	Sat
No	vemb	er 20	25			
						1 Disney Dream (8am-6pm)
2	3	Jewel of the Seas (8am-6pm) Mein Schiff 1 7:30am-7pm Star Pride 8am- 5pm)	5 Arvia 7am-6pm Azamara Quest (8am-6pm) Celebrity Apex (8am-4pm) Celebrity Reflection (8am-5pm)	6 Enchanted Princess (8am-5pm) Vision of the Seas (8am-6pm)	7	8 Carnival Pride ( 8am-5pm)
9	10	11 Arvia 7am- 4pm Island Princess (8am-6pm) Odyssey of the	12 Celebrity Apex— 8am-4pm Mein Schiff 2 7:30am-7pm Spirit of Discovery (8am-5pm)	Caribbean Princess 8am-6pm Celebrity Beyond (8am-5pm)	14	15 Grand Princess (7am-4pm)
16 Adventure of the Seas (8am-6pm)	17	18 Azamara Quest 7am-10pm Coral Princess (8am-6pm) Zuiderdam (8am- 5pm) Star Pride (8am- 5pm)	19 Aida Blu (8am-6pm) Brilliance of the Seas 8am-6pm Enchanted Princess 8am-6pm	20 Marella Explor- er 8am-6pm	Ambition (8am -6pm) Valiant Lady (8am-4pm) Norwegian Epic (7am- 8pm) Seabourn So- journ (7am-	22
23	24 Valiant Lady (8am-4pm)	25 Aida Sol 7(am- 8pm) Arvia 7am-8pm) Konings(dam (8am-5pm) Marella Explorer (8am-6pm)	26 Allure of the Seas 8am-6pm) (Celebrity Apex (8am-4pm Emerald Sakara (8am-10pm) Mein Schiff 2 (7:30am-7pm)	27 Celebrity Beyond (8am- 5pm) Enchanted Prin- cess (8am-6pm) Star Flyer (8am-6pm)	28 Coral Princess (8am-6pm)	29
30 Seabourn Ovation (8am-5pm)						

Sun	Mon	Tue	Wed	Thu	Fri	Sat
December 2025						
	1 Valiant Lady (8am-6pm)	2 Aida Blu 7am-8pm Azamara Quest (8am-10pm)	3 Brilliance of the Seas (8am- 6pm)  Brilliant Lady (8am-5pm) MSC Virtuoso (8am-6pm) (Star Pride 8am-5pm)	4 Explorer 1 (8am-5pm) Norwegian Breakaway (8am-5pm) Queen Mary 2 (9am-5pm) Vision of the Seas (8am-6pm)	5 Ambition 8am- 6pm	6 Costa Fascinosa (9am-7pm) Enchanted Princess (9am -6pm)
7 Azamara On- ward (8am- 8pm) Norwegian Gem (8am- 5pm ) Norwegian Getaway (8am- 5pm)	8 Aida Mar (7am-4pm) Arvia (7am-6pm) Silver Ray (8am-6pm)	9 Celebrity Ascent 8am-6pm) Marella Discovery (8am-6pm	10 Brittania (7am-6pm)  Celebrity Apex (8am-6pm)  Marella Explorer (8am-6pm)  Mein Schiff 2 (7am-7pm)	11 Celebrity Beyond (8am– 5pm) Seabourn Ovation (8am-5pm) Star Flyer (7am-7pm)	Coral Princess (8am-6pm)  Marella Discovery (8am-6pm)  Wind Surf (8am-10pm)	13 Costa Fascinosa (9am-7pm) Grand Princess (7am-4pm)

Did you know...? The Buckley's Uprising took place on January 28th 1935.

Sun	Mon	Tue	Wed	Thu	Fri	Sat
Dece	embe	er 202				
14 Oceania Allura (8am-4pm) Valiant Lady (10am-6pm)	Norwegian Pearl (8am-5pm) Seven Seas Grandeur (8am - 6pm)	16 Aida Blu (7am-8pm) Azamara Quest (8am-10pm) Koningsdam (8am-5pm)	Norwegian Breakaway (8am -5pm)  Brilliance of the Seas (8am-6pm)	18 Azamara On- ward 8am-8pm  MSC Virtuoso 9am-7pm Silver Ray 8am- 6pm  Viking Sea (7am -5pm)	19 Sea Dream 2 8am-6pm	20 Norwegian Epic (9am- 6pm) Norwegian Sky (8am- 5pm) Spirit of Ad- venture (8am- 5pm)
21 Costa Fascinosa (7am-1pm) Marella Dis- covery (8am- 6pm) Vidanta Ele- gant (7am- 7pm)	22 Enchanted Princess (8am-6pm) Marella Discovery 2 (8am-6pm) Valiant Lady (9am-6pm) Viking Sea 7 (am-5pm)	23 Aida Sol 7am-8pm Arvia 7am-6pm MSC Divina 8am-6pm Oceania Insignia 9am-6pm	24 Allure of the Seas (8am-6pm) Celebrity Apex (8am-4pm) Mein Schiff 2 (7:30am-7pm) Emerald Sakara (8am-10pm)	25 Marella Explorer (8am-6pm) Seabourn Ovation (8am-6pm) Seven Seas Grandeur (11am-8pm) Vidanta Elegant (10am-11pm)	26 Coral Princess (8am-6pm) Costa Pacifica (9am-7pm) Wind Surf (8am-10pm)	27 Costa Fascinosa (9am-7pm) Norwegian Sky (9am-6pm) Queen Mary 2 (7am- 10pm) Silver Dawn (8am-6pm)
28 Silver Ray (8am-6pm) Silver Spirit (8am-11pm) Norwegian Breakaway (9am-6pm) Vidanta Elegant (7am-7pm)	29 Norwegian Star (7am-6pm) Valiant Lady (8am-6pm)	30 Aida Blu (8am-6pm)  Seven Seas Mariner (8am-6pm) Wind Spirit (9am-5pm) Vidanta Elegant (8am-11pm) Ritz Ilma 8(am-5pm)	31 Azamara Quest (8am-10pm) Brilliant Lady (8am-5pm) Celebrity Beyond (8am-6pm) MSC Virtuoso (9am-7pm)			

### Did you know...? The Old Treasury Building was built in 1894.

Sun	Mon	Tue	Wed	Thurs	Fri	Sat
				Le Bellot (TBC) Vision of the seas (8am-6pm) Brilliance of the seas (8am-6pm)	2 Azamara onward (8am -6pm)	Viking sea (8am-6pm) Norwegian Sky (9am- 6pm) Marella Discovery (8am-6pm) Costa Fas- cinosa 9am- 7pm)
4	MSC Explora 1 (8am-5pm) Valiant Lady (8am-6pm) Vidanta Elegant (7am-7pm) Brilliance of the seas (8am-4pm)	6 Arvia (7am-6pm) Grand Princess (7am-5pm) Club Med II (8am-5pm) Celebrity Eclipse (8am-6pm)	7 Mein Schiff 2 (7am-7pm) Celebrity Apex (8am-4pm)	8 Zuiderdam (8am-5pm) Marella Explorer (8am-6pm) Celebrity Beyond (8am-5pm)	9 Sea Cloud Spirit (8am-1pm)  Costa Pacifica (9am-7pm) Marella Discovery (8am-6pm) Wind Spirit (8am-9pm)  Celebrity Ascent (8am-5pm)	10 Costa Fascinosa (9am-8pm) Norwegian Gem (8am- 5pm) Odyssey of the seas (8am-6pm) Konings- dam (8am-5pm)
Viking sea (7am-7pm) Norwegian Getaway (8am-6pm) Enchanted Princess (8am-6pm) Amadea	Wind Surf (8am- 9pm) Silver Ray (8am- 6pm) Aida Blu (7am- 8pm)	13 Aida Blu (7am-8pm)	Ja	nuary	202	6

Sun	Mon	Tue	Wed	Thurs	Fri	Sat
			14 Scarlet Lady (7am-8pm) Brilliance of the seas (8am-6pm) MSC Virtuosa (9am-7pm) MSC Virtuosa (9am-7pm)	15 Wind Spirit (7am-5pm) Seabourn Ovation (8am-5pm) Valiant Lady (10am-7pm)	Sea Dream II (8am-6pm) Lona (7am-6pm)	17 Costa Fascinosa (9am-7pm)
18 Ambition (8am- 6pm) Valiant Lady (10am- 7pm) Bolette (6am- 6pm)	19 MSC Divina (8am-6pm) Seabourn Ovation (8am-5pm) Vidanta Elegant (7am-7pm) Vidanta Elegant (7am-7pm) Marella Discovery 2 (8am-6pm)	20 Arvia (7am- 6pm) Mein Schiff 3 (7am-8pm) Celebrity As- cent (8am- 6pm) Aida Sol (8am- 6pm)	21 Viking sea (7am-6pm) Mein schiff 2 (7am-6pm) Marella Explorer (8am-6pm) Celebrity Apex (8am-6pm) Allure of the seas (8am-6pm)	22 Oceania Allura (7am-5pm) Silver Ray (7am-6pm) Celebrity Be- yond (7am- 5pm) Odyssey of the seas (10am- 6pm)	23 Ventura (8am -5pm) Norwegian sky (8am- 5pm) Costa pacifica (9am-7pm)	24 Mein Schiff II (8am- 7pm) Costa Fas- cinosa (9am -7pm)
25 Caribbean princess (7am- 4pm) Norwe- gian Get- away (8am- 5pm) Carnival Dream (8am-	26 SeaDream I (8am -3pm) Mein Schiff 3 (7am-8pm) Star Seeker (7am -8pm) Viking Sea (7:m-5pm) Queen Victoria (7am-6pm)	27 Aida Blu ( 7am-8pm) Norwegian Gem (8am- 5pm) Artania (8am-6pm) Le Bellot (7am-5pm)	28 Brilliance of the seas (8am-6pm) Brilliant Lady (8am-6pm) MSC Virtuosa (9am-7pm) Silver Ray (8am-11pm)	29 Artania (8am- 6pm) Vision of the seas (8am- 6pm) Seabourn Ova- tion (8am- 5pm)	30 Marella Discovery (8am-6pm) Sea Cloud (7am-5pm) Celebrity Ascent (8am-5pm)	Viking sea (7am-5pm) Konings- dam (8am-5pm) Enchanted Princess (8am-6pm) Costa Fascinosa (9am-7pm)
		Jan	uary	2026	con	t'd

# $\label{eq:continuous} \textbf{Did you know...?} \ \ \textbf{Caribelle Batik is located on the site of the Kalinago settlement led by its great leader Chief Tegreman.}$

Sun	Mon	Tue	Wed	Thurs	Fri	Sat
1	2 Valiant lady (8am-6pm) Silver Ray (8am -6pm) Seabourn Ova- tion (8am-5pm) Marella Discov- ery 2 (8am- 6pm)	3 SeaDream II (8am-6pm) Arvia (7am- 6pm) AIDAsol (7am- 8pm) Grand princess (8am-6pm)	4 Mein Schiff 2 (7am-7pm) MSC Explora 1 (8am-7pm) Celebrity Apex (8am-6pm)	5 Vidanta Elegant (7am-5pm) Marella Voyager (8am-6pm) Celebrity Beyond (8am-5pm)	6 Costa Pacifica (9am-7pm)	7 Silver Spirit (8am-7pm) Costa Fascinosa (9am-7pm)
8 Norwegian Gem (7am- 3pm) Star Seeker (8am-5pm) Norwegian Getaway (8am- 5pm)	9 Seabourn Ovation (8am-6pm ) Valiant lady (8am-5pm ) Koningsdam (8am-5pm )	10 Viking sea (7am-5pm) Oceania Nau- tica (7am- 7pm) AIDA Blu (8am-6pm)	11 MSC Virtuosa (9am- 7pm)	Grand princess (7am-5pm) Silver Ray (8am-6pm) Wind Spirit (1pm-10pm) Le Bellot (7am-5pm) Sea Cloud II (7am-5pm)	13 Norwegian Sky (8am-5pm) Oceania Allura (11am-7pm)	14 Marella Dis- covery 2 (8am- 8pm) Costa Fascino- sa (9am-7pm)
15 CFC Renaissance (8am-6pm)	16 SeaDream II (5pm-12pm) Grand princess (9am-6pm) Caribbean Princess (9am-6pm)	Arvia (7am-6pm) Celebrity Eclipse (8am-6pm) AIDAsol \(8am-6pm)	18 Mein Schiff 2 (7am-7pm) Celebrity Apex (8am-6pm) Allure of the seas (8am-6pm)	19 Star Flyer (7am-5pm) Seabourn Ovation (8am-5pm) Marella Explorer (8am-6pm) Marella Discovery (8am-6pm) Celebrity Beyond (8am-5pm)	20 Vidanta Elegant (7am-5pm) Celebrity Ascent (8am-5pm) Costa Pacifica (9am-7pm)	21 Koningsdam (8am-5pm) Enchanted Princess (8am-6pm_ Norwegian Sky (9am-6pm) Costa Fascinosa (9am-7pm)
22 Star Seeker (8am -5pm)	23 Seabourn Ovation (8am-5pm) Norwegian Gem (8am-5pm) Brilliance Of the Seas (8am-4pm)	24 Sea Cloud II (8am-1pm) Viking Sea (7am-5pm) AidAblu (7am -8pm)	25 Brilliant Lady (8am-5pm) MSC Virtuosa (9am-7pm)	Vision of the seas (8am-6pm) Sea Cloud (7am- 5pm) Scarlet Lady (8am- 5pm) Norwegian Geta- way (8am-5pm) Celebrity Ascent (8am-5pm)	27 Vidanta Elegant (8am-7pm) Fred Olsen Bo- lette (8am-7pm)	28 Norwegian Sky (9am-6pm) Costa Fascinosa (9am-7pm) Norwegian Breakaway (9am-7pm) Ambience (9am-7pm)
			Fel	oruary	v 201	26

Did you know...? Fort Louis is the name of the Fort that the French built at Gibbon's Pasture.

Sun	Mon	Tue	Wed	Thurs	Fri	Sat		
	March 2026							
1 Wind Spirit (8am-9pm) Ambition (8am -4pm)	Viking Sea (7am -5pm)	3 Arvia (7am-6pm) Marella Discovery 2 (8am-6pm) Oceania Allura (8am-6pm)	4 Mein Schiff 2 (7am-7pm) Venezia (7am-4pm) Celebrity Apex (7am-4pm)	5 Celebrity Beyond (8am-5pm) Marella Explorer (8am-6pm) Seabourn Ovation (8am-5pm) Wind Surf (8am-10pm)	6 Costa Pacifica (9am-7pm) Oceania Nautica (8am- 4pm) Silver Ray (8am-6pm) Valiant Lady (8am-4pm)	7 Costa Fascinosa (9am-7pm) Norwegian Sky (9am- 6pm) Queen Victo- ria (7am- 6pm)		
8 Aida Perla (7am-5pm) Star Seeker (8am-5pm) Valiant Lady (10am-7pm)	9 Seabourn Ova- tion (8am-5pm) Wind Spirit (9am-5pm)	10 Aida Blu (7am -8pm)  Odyssey of the Seas (8am-6pm) Seven Seas Grandeur (8am-11pm)	11 MSC Virtuosa (9am-7pm)	Aida Sol (8am-8pm) Oceania Insignia (8am-6pm) Ambition (8am-5pm) SeaDream 1 (8am-1pm) Viking Sea (7:30am-5pm	13 Celebrity Ascent (8am- 5pm) Enchanted Princess (8am- 6pm)	14 Marella Dis- covery 2 (8am -6pm) Norwegian Sky (9am- 6pm)		

### **Did you know...?** The Great Fire of Basseterre occurred in the year 1867.

Sun	Mon	Tue	Wed	Thurs	Fri	Sat
	M	arch	2026	cont?	d	
15	16 Arvia (7am- 6pm) Seabourn Ova- tion (8am-6pm)	17 Aidasol (8am-6pm) Brilliant Lady (8am-4pm) Celebrity Eclipse (8am-6pm) Celebrity Eclipse (8am-6pm) Grand Princess (8am-6pm)	18 Celebrity Apex (8am-4pm) Mein Schiff 2 (7:30am-7pm)	19 Celebrity Be- yond (8am-5pm) Marella Explorer (8am-6pm)	20 Valiant Lady ( 8am-4pm)	21 Norwegian Sky (9am- 6pm) Zuiderdam (8am-5pm)
22 Valiant Lady (10am-7pm) Star Seeker (7:30pm- 5pm)	23 Britannia (7am -6pm) Wind Spirit (9am-5pm)	24 Aida Blu (8am-8pm)	25 Brilliance Of The Seas (8am-6pm) MSC Virtuosa 9am-7pm)	26 Seabourn Ovation (8am-5pm) Vision of the Seas (8am-6pm) Viking Sea (7am- 5pm) Wind Surf (8am- 10pm)	27 Star Clipper (7:30am- 5pm)	28 Norwegian Sky (9am- 6pm)
29	30 Marella Discovery 2 (8am-6pm) Seabourn Ovation (8am- 5pm)	Fred Olsen Bolette Celebrity Eclipse (8am -6pm) Marella Explorer (8am-6pm)				

Did you know...? Sugar production started in St. Kitts in 1640.

Sun	Mon	Tue	Wed	Thurs	Fri	Sat		
	April 2026							
			1 Mein Schiff 2 (7am-7pm) Celebrity Apex (8am- 4pm) Celebrity Sil- houette (9am-	2 Celebrity Beyond (8am- 5pm) Caribbean Princess (8am- 6pm) Valiant lady	3 Celebrity Ascent (8am-5pm)	4 Marina (7am- 2pm) Norwegian Sky (9am-6pm)		
5	6 Koningsdam (8am-5pm)	7 Grand Princess (8am-6pm) AidaBlu (8am- 8am)	8 Brilliance Of The Seas (8am-6pm) Oceania Allura (11am-	9	10	11		
12	13	14 Marella Discovery 2 (8am-6pm) Celebrity Ascent (8am-6pm) Celebrity Eclipse (8am-6pm)	15 Mein Schiff2 (7am-7pm) Scarlet Lady (8am-5pm) Celebrity Apex (8am-4pm)	Marella Explorer (8am-6pm) Celebrity Beyond (8am-5pm)	17	18 Norwegian Epic (9am-6pm)		
19	20	21	22 Brilliance Of The Seas (8am -5pm)	23 Vision of the Seas (8am-6pm)	24	25		
26	27	28	29 Radiance of the Seas (8am-6pm) Jewel of the Seas (8am-	30				

### Did you know...? The JNF Hospital was built in 1967.

Sun	Mon	Tue	Wed	Thu	Fri	Sat
					1 Resilient Lady (8am- 5pm)	2 Jewel of the Seas (8am- 6pm)
3	4	5 Allure of the Seas (8am-6pm)	6	7	8	9
10	11	12	13 Radiance of the Seas (8am-6pm)	14	15	16
17	18	19	20	21	22	23
24	25	26	27 Radiance of the Seas (8am-6pm)	28 Star of the Seas (8am- 5pm) Celebrity Beyond (8am- 6pm)	29	30
31				May	7 2026	

# Did you know...? Romney Manor was the first British plantation in the Caribbean.

Sun	Mon	Tue	Wed	Thurs	Fri	Sat
June						
	1	2 Allure of the Seas (8am-6am)	3	4	5	6
7	8	9	10 Radiance of the Seas (8am-6am)	11	12	13
14	15	16	17	18 Star of the Seas (8am-5pm)	19	20
21	22	23	24 Radiance of the Seas (8am-6pm)	25 Celebrity Beyond (8am- 6pm)	26	27
28	29	30 Allure of the Seas (8am-6pm)				

# Did you know...? The first crop planted in St.Kitts by the English was tobacco.

Sun	Mon	Tue	Wed	Thu	Fri	Sat
July 2026		1	2	3	4	
5	6	7	8 Radiance of the Seas (8am-6pm)	9 Star of the Seas (8am- 5pm)	10	11
12	13	14	15	16	17	18
19	20	21	22 Radiance of the Seas (8am-6pm)	23 Celebrity Beyond (8am -6pm)	24	25
26	27	28 Allure of the Seas (8am- 6pm)	29	30 Star of the Seas (8am- 5pm)	31	

# Did you know...? That in addition to Pall Mall Square, Independence Square was called the Pasture.

Sun	Mon	Tue	Wed	Thu	Fri	Sat
Αι	igust					1
20	igust 26					
2	3	4	5 Radiance of the Seas (8am-6pm)	6	7	8
9	10	11	12	13	14	15
16	17	18	19 Radiance of the Seas (8am-6pm)	20 Star of the Seas (8am-5pm) Celebrity Beyond (8am- 6pm)	21	22
23	24	25 Allure of the Seas (8am-6pm)	26	27	28	29
30	31					

### Did you know...? Independence Square was built in 1750.

Sun	Mon	Tue	Wed	Thu	Fri	Sat
September 2026						
		1	2 Radiance of the Seas (8am -6pm)	3	4	5
6	7	8	9	10 Star of the Seas (8am-5pm)	11	12
13	14	15	16 Radiance of the Seas (8am- 6pm)	17 Celebrity Beyond (8am-6pm)	18	19
20	21	22 Allure of the Seas (8am-6pm)	23	24	25	26
27	28	29	30 Radiance of the Seas (8am-6pm)			

### 2025-2026 St. Kitts Cruise Ships Calls and Capacity

Cruise Ships	Capacity	Port Calls	Total Passengers
Aida Cruises			
AidaBlu	2,050	11	22,550
AidaPerla	3300	1	3,300
AidaSol	2686	11	29,216
AidaMar	2686	1	2,686
Azamara Club Cruises			
Azamara Onward	684	3	2,052
Azamara Quest	705	5	3,525
Ambassador Cruiseline			
Ambience	1400	1	1,400
Ambition	1200	5	6,000
CFC Renaissance	1510	1	1,510
Carnival Cruise Line			
Carnival Dream	3646	2	7,292
Carnival Pride	2124	1	2,124
Carnival Venezia	4090	1	4,090
Celebrity Cruise Line			
Celebrity Apex	2910	13	38,441
Celebrity Ascent	3937	9	35,433
Celebrity Beyond	3937	18	70,866
Celebrity Eclipse	2850	5	14,250
Celebrity Reflection	3046	3	9,138
Celebrity Silhouette	2886	1	2,886
Club Med			
Club Med II	386	1	386
Cunard Line			
Queen Victoria	2081	2	4,162
Queen Mary 2	2691	2	5,382
Costa Cruises			6,452
Costa Fascinosa	3800	14	53,200
Costa Pacfica	3780	6	22,680
Disney Cruise Line			
Disney Dream	4000	1	4,000
Disney Magic	2713	2	5,426

### 2025-2026 St. Kitts Cruise Ships Calls and Capacity cont'd

Cruise Ships	Capacity	Port Calls	Total Passengers
Emerald Cruises			
Emerald Sakara	200	2	400
Explora Journeys			
Explora 1	922	1	922
Fred Olson Cruises			
Bolette	1338	3	4014
Holland America Line			
Koningsdam	3194	7	22,337
Zuiderdam	1970	3	5,910
Norwegian Cruise Line			
Norwegian Breakaway	3963	3	11,889
Norwegian Gem	2394	5	11,970
Norwegian Getaway	3963	5	19,815
Norwegian Epic	4228	3	12,684
Norwegian Sky	2405	12	28,860
Norwegian Pearl	2394	1	2,394
Norwegian Star	2348	1	2,348
Marella Cruises			
Marella Discovery	2074	7	14,518
Marella Discovery 2	2198	8	17,584
Marella Explorer	1924	11	21,164
Marella Voyager	1912	1	1,912
MSC Cruises			
MSC Virtuosa	6334	9	57,006
MSC Davina	4345	2	8,690
MSC Explora	922	2	1,844
Oceania Cruises			
Oceania Allura	1200	5	6,000
Oceania Insignia	670	2	1,340
Oceania Nautica	684	2	1,368
Oceania Marina	1250	1	1,250
P & O Cruises			
Arvia	5200	11	57,200
Britannia	3647	2	7,294
Lona	5206	1	5206
Ventura	3192	1	3192

### 2025-2026 St. Kitts Cruise Ships Calls and Capacity cont'd

Cruise Ships	Capacity	Port Calls	Total Passengers
Phoenix Reisen Cruise			
Artania	1260	2	2,520
Amadea	624	1	624
Ponant Cruises			
Le Bellott	184	3	552
Princess Cruises			
Caribbean Princess	3140	4	12,560
Coral Princess	2586	4	10,344
Enchanted Princess	3660	9	32,940
Grand Princess	3100	11	34.100
Island Princess	2200	1	2,200
Regent Seven Seas Cruises			
Seven Seas Grandeur	746	3	2,238
Seven Seas Mariner	700	1	700
Royal Caribbean Cruise Line			
Adventure of the Seas	3314	1	3,314
Allure of the Seas	6780	10	67,800
Brillance of the Seas	2543	11	27,973
Jewel of the Seas	2963	3	8,889
Oasis of the Seas	5,600	1	5,600
Odyssey of the Seas	5510	4	22,040
Radiance of the Seas	2466	12	29,592
Star of the Seas	7514	7	52,598
Vision of the Seas	2514	7	17,598
Saga Cruises			
Spirit Of Adventure	999	1	999
Spirit of Discovery	999	1	999
Seabourn Cruise Line			
Ovation	600	15	9,000
Sojourn	458	1	458
Sea Cloud Cruises			
Sea Cloud	64	2	128
Sea Cloud 2	94	2	198
Sea Cloud Spirit	136	1	136
SeaDream Yacht Club			
SeaDream 1	112	2	224
SeaDream 2	112	4	448

Cruise Ships	Capacity	Port Calls	Total Passengers
Silver Sea Cruises			
Silver Dawn	596	1	596
Silver Ray	728	9	6,552
Silver Spirit	608	2	1,216
Star Clipper			
Star Clipper	170	1	170
Star Flyer	170	3	510
The Ritz-Carlton			
Ritz Ilma	448	1	448
TUI Cruises			
Mein Schiff 1	2894	1	2,894
Mein Schiff 2	2894	15	43,410
Mein Schiff 3	2502	2	5,004
Viking Ocean Cruises			
Viking Sea	930	12	11,160
Virgin Voyages Cruises			
Brillant Lady	2770	5	13,850
Resilient Lady	2,860	1	2,860
Scarlet Lady	2770	3	8,310
Valiant Lady	2770	16	44,320
Vidanta Cruises			
Vidanta Elegant	298	10	2,980
Windstar Cruise			
Star Pride	312	4	1,248
Star Seeker	224	5	1,120
Wind Spirit	148	7	1,036
Wind Surf	342	5	1,715
Total		454	

### The Mother Colony of the West Indies

Also known as Sugar City, St. Kitts has been known for its rich Warner by a Carib woman named Barbe. The planned massacre culture and its loving people. From the Indigenous peoples, to Sir Thomas Warner, from Slavery to Independence, this country has all the wonderful delights of a true cultural melting pot.

It was first inhabited by the Arawaks, a peaceful Amerindian tribe that originated from the Orinoco Valley in South America. After constant conflict with the another tribe, St. Kitts ended up in the hands of the Caribs. They reigned on the island then known as Liamuiga, "fertile land", in the Amerindian language. Their reign however was only for a time.

In 1493, the country was visited by Christopher Columbus on his second voyage. He named the island Saint Christopher in his honour and sailed on to Hispaniola (presently called Haiti and The Dominican Republic). The Caribs appeared to be a friendly sort although his meeting with them did not last as long as the Spanish settlements as they saw no precious ores on the island.

In 1623, Sir Thomas Warner, a sea merchant saw the island in passing, visualizing its richness and hoping to set up a successful tobacco o colony, went back to Britain to request permission to settle there with other British colonists and supplies. In 1624, he colonized the island in the name of Britain. He was then joined by the French in 1625 who, under Pierre D'Esnambuc, occupied the north and southern ends of the islands leaving Britain in the middle. They coexisted for sometime with the Caribs who became suspicious of their European colonists. The Caribs plotted a massacre which was relayed to Sir Thomas

ended unsuccessful as a result of the British and the French joining forces to attack the Caribs. As a result, over 2,000 Carib Indians were massacred at Bloody Point in 1626.

The British and French had another conflict amongst themselves over the ownership of the island. In 1713, however, the French were expelled from the island. However, the tobacco crops continued to exist. During the eighteenth century, the Sugar revolution came about. St. Kitts now had another cash crop to keep up the rich colonial society that existed from the coming of the Europeans.

The Sugar revolution saw a change in the demography and population as smaller tobacco plots were joined together to create large sugar plantations. Today, remnants can be found throughout the islands as remainders of old sugar mills and plantation houses. The Colony now thrived on the monoculture of sugar hence the introduction of Slavery.

The first slaves in the Caribbean were the Amerindians. However, the colonists introduced serfs or Bondservants to the colonies. The bondservants were unprofitable as they were more concerned with drinking spirits and occupying land. They turned to Africa and so the slave trade began. Tribes such as the Ashanti, Igbos, Popos and Ibibos from the Savannah and Forest Empires of West Africa were brought here under dangerous conditions to work.



Cruise schedule subject to change based on cancellations and changes to ship itinerary

### **National Symbols**

~!?

St. Kitts and Nevis' Official National Wear reflects the true "Caribbeaness" of its people. A combination of African and European influences which have shaped the history of St. Kitts and Nevis is evident in both the male and female outfits.

#### Men's Wear

A straw hat trimmed with madras offered protection from the hot day's sun. The short sleeved, V-neck jack shirt trimmed with madras is made from off-white cotton. The design is similar to traditional shirts worn by Africans. The beige cotton, ankle length pant is a reflection of the local fabrics that were commonly used during the colonial period.

#### Women's Wear

It is customary for African women to wrap their heads for protection. The main dress is off-white cotton, with a corset top and an ankle length, wide flare petticoat bottom. The beige cotton sleeves are short and puffed by using the drawstring. A short lap skirt made from crocus is worn over the main dress to protect it from dirt. The madras "Cane Soda Wrap", which was used to carry soda while fertilizing sugar cane, is draped around the waist. The crocus drawstring bag was a safe way for women to secure their money.

The national bird of St. Kitts and Nevis is the brown peli-



can, *Pelecanus Occidentalis*. In its youth, it is brown on the head, neck and upper parts of the body, and mostly white below. As it matures, the majority of the body becomes dark brown while the upper part of the head turns white.

## **National Symbols**



The national flag of St. Kitts and Nevis was adopted on September 19th, 1983. It was designed by Edrice Lewis in a national design competition. Green represents our fertile lands. Red represents our struggle from slavery through colonialism to independence. Yellow represents our year-round sunshine. Black represents our African

Heritage. The white stars are symbols of hope and liberty.



The centre of the coat of arms is dominated by a shield at the base of which is a lighter in full sail. The lighter is one of the traditional means of transportation. A red chevron is highlighted by two Poinciana flowers. At the top of the shield on the blue background is the head of a Carib, supported by the fleur de lis and a rose. The fleur de lis and rose signify the French and English influences. A helmet topped with the battlements of a tower appears with a flaming torch upheld by the hands of an African, Europe-

an, and a person of mixed descent. The torch signifies the struggle and quest for freedom by a people of diverse ethnic origins, but united in purpose. The shield is supported on either side by pelicans with wings extended, displaying a sugar cane plant and the coconut palm tree, which are extensively cultivated throughout St. Kitts and Nevis.



The national flower is the Poinciana or flamboyant, named after Monsieur de Poincy, the first French Governor of St. Kitts, who is said to have introduced it to the region. Its scientific name is Delonix Regia and it is said to have originated in Madagascar. yellow scalloped flowers followed by long, black seedpods. It blooms from May to August



www.visitstkitts.com Cruise schedule subject to change based on cancellations and changes to ship itinerary changes